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N.B. : (1) All questions are compulsory. i . 'I ;

(2) Figures to the right indicate full marks.

1. (a) Choose the right alternative (any eight) : 8-
(i) Elimination of the government cantro! cwer écr:lnﬁn'ric actiwefgs is knﬁwnn,.
Abem (g al sl o 3 P
(Liberalization, Prwatlzatmn, Gldbéllzatmn} AP e il
(i) The Ministry of environment and ferrast hasfcm«aiecf mforrrratmq s?sté’m
called svesasnancaazs, & RN o e SO SR el O
(EIS, GIS, GPS) S el sl e

(iii) The only !mportant motwe qf aII ~-‘»~----~---.compan[es is m maximise

their profit. S
(Private, Publn:;, = C@-aperatwe] :
Human nghtS’a e'_def‘wﬂd “ﬁ:om the p—rm 'igle

(iv)

ENnis € 1T ¢

(UDHF Amgrlca_n i@ve;dar’atm“n F éq:ch'”

- (vii) Meatea in;g an;malaare«catngﬂa‘ 2y
OrOLE ’Earﬁi_ﬁ_hml{lﬁr%_ lmfﬂUsF"r

- Act . Stres
ate | 'Ether tfhe fm!{ummﬁ;tafeni&nts are true or false (any seven) :
}“ Lewlft mi;rgdm:g‘ “I-Le aqnc“ept of globallzatlon

ui}; Fi E:‘Elé'tbm“‘ﬂf sggech am,i expressmn may also include defamatmn
-“}dhn Lecké was. cognized as the father of modern international Law.

‘[u} jg‘amra[%nmmn _Ent provides renewable sources of energy.
u:;tamﬁh!&daue!npment has three components : envlronment saclety

'E_!ﬁ’ll < :Basst\huma“h values help to improve standard of living in a society.
(viii) Regicralism is the only cause of aggression and violence. ¥

‘ ‘#’;ﬁi}.,_..—imdwrdual factors are the only causes of stress. i
%) ,,{?aums of stress are not the same for every individual.
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2. What is meant by Globalization ? Explaln the Impact of Globalization onlndlan ccmnnmvr 15
OR o
Explain the impact of Globalization on Agriculture, Ve’ : i'
3. Explain the meaning and characteristics of Human Rights, S0 \' 18
OR \ i _. a0
Examine the concept of civil rights, Deseribe. anv flue clvll rights 3 S
4. Explain the concepts of environment and ecolagy ang’ ihalr mtwcbnnectndﬁqﬂ
QR > ) i -\1 \ "\:. _-_...’ .'. l.-"
Explain the causes of environmentaldegrndatmn B R WO &
5. Explain the meaning and causes of‘str@ss. _ ' " H ' , _.5“ y
S5 DO S g e i
Write short notes on (any three) : : o) 15
{a) Concept of leeralizatmm (b) Ploblam nfd'ni mtlan
(¢) Food chain. ' d) Coptnnwith“strﬁs
(e) Types of conﬂlc:ts- M S I
5 (mmwma_,f
tm W) g (QgEo o ey
QAT (q) fHEf I{ﬁf m‘.ﬁw aﬁéﬂ R
 gorfredts. ot egpfum‘e-@fﬁ'ﬂm
(3 3 SIEREL uﬂ:ﬂnq iﬁaﬂ grasufmm m-qrm
o (w) v vat Pt (ol ) L SRR
(HJ Rl Qtads SRETR Plsu §Y @R R - = =ms oo WU SIS W,
(SRR, s, - S i
(g} qum: Gy et WATUE = ===-- == @ Wifke ason Frertor deh A,

S ({m,mvﬁ sramae,  Shhew)

;.-;.\ 1w st we T oo e g o,
G, s, )
& _________ TR RN PreTe e s,
o #’Hﬁffﬁ TRy )

P b R oo
SEAS .** g } W-W““ e iR

(o, 0, of)
el

Ml Nl & -Cﬂ o3 h-_..._..... B ATl gEmINTE mm T
PiFia et s *, d‘wﬂ are.,  omRemen onfRvem,
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Please check whether you have got the right Qqe;sﬂ;ﬁi;li:?'aj@;i - sl S
N-B y ---'\.-J-_-':'- -,_.. --:-_;' : I-'::-.:: -P:j‘ét-i-,:{ — 3
1. Figures in brackets to the right indicate mllmgnl@ﬂﬁgédgumemm -3
2. Working notes should form part of your answers.. = )30 o AN A AR
3. All questions are compulsory, aithough_jheregge;zitg@a!gpﬁons_“ e
4. Use of simple calculator is allowed. & F= T E S LTSS S SO -z
Q1 (4) Fill in the blanks choosing the correct alternative (A

1 IS a statement sent by the consignor to the consi

account. (Debit/ Creditfﬂsset]fjj"-‘?::\% A o } _"_\'-:-'1.
Goods sent on Consignment account s closed by transferring & ﬁlgnqe‘fq: S A
account of consignor. {c@awm@untfﬁendsfaggu@tﬁm ] %ﬁe&‘uunt}
4. Openingstock reserveis = - ~_to branchA/cin Branch -Bé_bm‘fyﬁﬁe'_; '

T S T b s .. \—tﬁfad
(Added/Debited/Credited). = .= " © 5 oo il

5 Is prepared in singleientry to find out credit purchases: .
(Debtors Acco untfi?g@éﬁ‘d‘ﬁaﬁk&mﬂﬂn#@g@itﬁrfﬁm' -,_"'_"_ ‘ﬁ]-f} .

. Cashremittedy Headoicstobranttis " &S Biohenian /e i headloffice
books unggi?ﬁ@g%ﬁ:gﬁﬁié{éﬁtﬁ: _',:@éh?t?ﬁ)i@iéﬁﬁéﬂﬁddedi'

-

7. Fire lnsugancew{f%@‘g:i‘ﬁk;ﬂuﬁ\@ﬁ:__fpmfFfﬁfrﬁfEaTﬂ‘lq,“akﬂ]
8. Actuabloss of Stock due-to Fire = Stock on the date of five lese —

(Insurance premiumySalvage/Compensation). = il g = 54
9. Memoranduny Trading Account is prepared to ind ________qi

- dateof fire /Gross profiton the'date ofire/Salvage on the dat offirg)
10. IfDel Credere commission is paid toconsigniee bad debts loss is ace med by
- —— (Consignee/Consignor/Customer)
S J:i,ﬁ{rf@]sulaﬁngﬁre {iigpwjzﬁ;‘né?g}tiﬁiﬁg}ﬁqde rvaluation of stock n
SRR ING — (Market Price/Cost Price/Undervalued Price.)
- 2. Goods which are slow movingare called as

o

(Abnorm,

5 : R
e S W o
- Q1(B) State whether fo .

B) wi ) ﬁ%&éﬁ;ﬁemenls are true or false
- sMerosSs profit is 2096 of sales that means it is 25% of cost.
S Pﬂigﬁg_seﬂ&ﬁ{rgq{dqbﬁé‘d to creditors Account. e
meue f:qns;gma.e prepares<cofisignment Account.

Fos =4, \\E?Eb@?&&@%ﬁtﬁ\ i
* 5= Tofind eredit sales

b 0 = - E
e s Rt
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Q. P, Code : 34385
8, Average clause is applicable in case of underinsurance. %
9. Stock on consignment belongs to the consignors 2Rt
jgnee. &
10. Account sale is sent by the consignor to the cons :
11. In Statement of Affairs method of single entry, cnmplt.ta recurdﬂ are th‘ver.ge@ ?nt:?i J
s, i ;
incomplete records se uf ﬂllﬁmumnm

12. Insurer gets compensation less than the amount of polm:,f i‘n u‘:{l

. ¥ Lo \. " ki
i e
Vet " “{153
PR T st -
i b - T oy iy TR
g

Q.2, Mr. Roy supplies you the following information: . Ky _
Particulars g ﬂi-ﬂ‘*'*z“l?_,_. 1,03, G S S
Sundry Debtors L« | 90,000]. o S0 S Ty
Stock 75,0000 © ¢
Sundry Creditors ﬂ S 55"ﬂﬂﬁ IS 15‘_-;k &3
Furniture [\ FES e s S 2o aduies "?; S
Machinery A o :L, 75,000 = - i
Summary of cash transactions for the year ended BIB‘March 2{}15 S N
| Receipts Sl ’?* Payments ;--'a'*»" 7 < L \
Opening Balance‘ﬁ"\‘b o i : 1,75,000
Cash Sales =t coy. (‘% 80,000
Received from Debtc&) L[ > 75,000
Loan from JoyL i 30,000
e T 45,000
incg 15,000
. W A Macmne;z ugn; 50,000
e AN 4 Zﬁl?j
! Sing. | 30,000
_ 5,00,000

P.L

5y bmits his ﬂnﬁnm’g} pn&iuun ason3 13* March, 2017
: ___ @s)




Q. P; Code : 34385

During the year ended 319 March, 2018; Mr, Omlkar:

a) Received from debtors ¥ 3,03,500.
b) Paid ¥ 2,33,500to creditors for goods.

¢) Repaid T 10,000 of Vijay's Loan.

d) Purchased a computer for ¥ 14,000.

e) Withdrew ¥ 1,600 per month for domestic use.
fj Introduced additional capital of 6,000

g} He sold goods only on credit.

) Ile spent for business expenses 18,000,

i) Charge 20% Depreciate on Plant & Mdﬂhll‘j&]’j{ antl Cﬂm}mters.:
Prepare Mr, OmKkar's Final Acmunts h}r shuwmgs all your; wnrklng:.

Q.3'Hero Motors consigned on 01;’[}?12{}1? 1013 h:cycle
sold on behalf of Hero Mators, The Cost of each blcycle Was ?1 Sﬂ(} Hem Motors

incurred 1,000 on freights and 1nsuranceWastu Motors recewed,the mns:gnment on
14/07/2017 and accepted a three months bill dnwrr upon hy Herc: Motors for
50 ﬂDﬂ"(Vastu Mutc-t;s psuci ?4[‘100 as Tent and T2,500-as msurame and by
31/12/2017 had c;c:‘l.d 80 bIC}FC].ES at T 500 each. V&stu Mﬁtnrs is entitled to total

mciudmg a del—credere cqmmlssmn of 1%. Vastu

commission of & per cent-on sales
to recover sales proceeds of 5

Motors sold 20 bm}rcla.ax on eredit and’ was not. able

bicycles hecause uf insolvency ofj;he debten: 7 v e d o
Prepare {:unslgnmeutFAccnuu‘t, zmd Conmgnee 5 ﬂccuunt

Mumrq

in the books of Hero

e GR' 5 "."
mfonnatmn is avaﬂable: fmm the books of Sunny Pharmaceuticals Ltd (15)
the year ended 319 March 2018. The head office invoices

ice Price, You are reqmred to prepare Bangalore
harmaceut:ca]s Ltdlusing Branch Debtors Method.

Q3. Foiiowmg
for its brﬁnch at- Bangali::rc for

goods to the Btanch at. 25% on: Imro
: Branch Ale m the bnoks of Sunuy P
o Also _pl_'epare Tntal D:;htors Account to Support your answer.

¥

* F~ 3 '. Pﬂrticulurs

-Balam:c ﬂS on 1-4-—2!’.?17 e
: ;Branch\]jebmts
; :Smck athwmce price
f ;Casha in —fumd
oo Offee fu};mture { Depreciated @10 %o pa)
| :Balance as on 31-3-2018 S
~l= Elranch Debtors

535,000
75,000
10,000

3

§23882DC6969BD73EADDAATFEE2AFBSD.

sto: Vastu Matnrs ana]hapurto be (15)

|
|
|
[ ]
:
=
F
g
E
E




« Cash

- Btock at Invoice Price

= Office Purniture

Goods sent by H.0O, at Invoice Price

' Total Sales

"“Cash Sales 4

' Cash received from debtors

Discount allowed

Bad debts

Goods returned by debtors ;
Goods returned by Branch to”H.G( Invoice Pnee’)

Cash received from H@ Inr Bmch EW
- Balary

o

-Rentand Taxes =~ '."' i

A 225000

2,i0500|

1,35,000 |
55,1)01’1

-SundryExpenws P gl T e 15.0

1,25.000
3 9

ri

€. P, Code : 34335

12,000

1,500
1,006 |

3,000 |

- -

.ﬁ'

Q4 Fouowingaremmﬁsofmemhwﬁem'x”"5- o
financial year 201’:"»‘1,8 : j

¥ _ﬂmsls sent 1o Branch

fC&sh Received from Debtofs
Expenses paid at Branch ;-

- Salaries

|- Commission

- Rentand Taxes
Discount to customers

' Bad Dﬁbtﬁ

; B 2,28,000

g Saﬂf:s on Crcdit , A .
Sa!res for Cash | PR AN 1,60,000

: Gﬂﬁdﬁ Rﬂmm@d bycustomerg fQBraugh ﬁ,ooﬂ'
| Goods Returned to Head fo'cé (by branch) 7, 000

(13)



Q. P. Code : 34385

Using the information given, draw up the following accounts in the bo:;nks of Majestic
Trading Company for the financial year 2017-18 using Stock and Debtors Method: -
|. Mysore Branch stock account -
2. Mysore Branch debtors Account
3. Mysore Branch Expenses Account
4. Mysore Branch Cash Account and
5. Mysore Branch P&L: Account. ] 45 v
GRS S PR IO
Q.4. On 31st july 2017, A major fire broke in the pr‘emlses c-f Mfs Shahmar’ 5 I (1’3} T
International destroying stock of goods »'avallablg thh tliem.n S{:osk havmg cost worth
5,000 could be salvaged. The Insuranee pohcy was’ far T ~251030 g -‘_ =
Following information was obtamed j‘t‘om the boaks of ﬁtc:ﬁun!;‘ savea. ok g

‘- -- '.

Particulars .'.l?' E (- . 1-_ =Se = ;-c* % _\, = \;_—. .:' 'R'SL ; ..::_

a. Balances as per the last Balam:e Eht;eta& 011‘3 Pt Ma‘ﬂ:h‘?.ﬂ 1'?‘ S
Stock b RS S i _.-7-;-5'5,000
Creditors " j—"l“ --_' o * SRS < -_.-'.'--'-"- =t FRY 12,000
Debtors el e T S ISR 20000

{b. Transacuons betweem:l 4.2617 and 3‘1\.07 Zﬂ 17 Mart Ik L -

Payment to. C;réditors- 8 S e 42,000
Receipts: ﬁ'ﬂmﬂebtm:s :'-" S 60,000 |
Retums mwaﬁd 5,000
-Retums fﬁimaﬁ 6,000 |
Cash Sales. = S G 55,000

_ﬁﬂnpal,d Cfe&i‘tg}ts 35 @n 3§<ﬂ“]u_ly EQ l?’ o S 4%9,(10&
- Unpaid thmrsgs,gn 315t July ,\;m:«' X0 55,000 |

All Salgs afe'madg a’t a profit o‘f~33 38”‘% anS’ellmgﬁPnce You are reqmred to draw up a
statemeqt show;ng, clan;l to tbe\ u‘.‘bnuttedq:u the Insurance Company.

= .\ = \m.l\

A ﬂ.*su Gmds eostmgﬂ‘ 45 UEJD wgre lﬂ\lﬁlﬂed\by Mr. Amarendra of Aurangabad to Mr. Chart =
ﬁﬁhﬁﬁé@rh v’C’ 28 3325 is rgcewed as advance from Charul. Charul is to get 5 per cent

”c’gm;msswn on’ sales ﬂnﬂ zy@ per cent del-credere commission. Eighty per cent
gqtads wer’e sold for 57, Oﬂﬂ Expenses of the Consignorwere 23,000 and of Con:

gi 50@ 2’30& proved bad The account was settled by cash payment. .

P;:ep}ire Conmgﬁment m:cuunt and Consignee's Account i
Amafengra. : _
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Q-5 On 5% June 2017 there was a devastating Fire in the gﬂdﬂm OF W@Js?liﬁ: E't;d fTE]
Following details were available from the books that wereﬂgfqi Ao A PRI T
Particulars

Stock on 1.4.2016

Purchases from 1.4.2016 to 31.3 2017
Purchases from 1.4. 2017 to 5.06. Zﬂli’
Sales from 1.4. 2016 to 31.3. 2017
Sales from 1.4.2017 to 5, 06 261:?” :
Stock on 31.3.2017 ; i
Wages from 1.4.2016 to .3:1.—5 201—?
Wages from 1.4. 201? m -5105‘ ZﬁJ.'f- :

gnyf‘siaen _% 1'64[1' as ﬁﬁgﬁgﬁﬁhﬁ’ﬂiﬁﬁ&nses. The ‘
sum assured by Insurance Cgmphng«g 5@3 *ﬂﬂ DOQ ;Ij'lie :E'ﬁkﬂja»lgearé ,,a(‘i‘mﬁ:ve:'age Clause,
You are required to cnmgujgé_ tl;gzjalm ttﬂ:‘, i’ile‘g-” ith th 0

-‘l-,-..zf

: {lirance Company
W
S atia o “
oy ) Umerat l{f a]Ifmng accounts in
conversion: me‘l:\h'nd'ﬂf si'lgi&‘em:ﬁg,,ﬂ‘ ke .5'; *‘h"T 313 ar (10)
Q 6 B) State the#ciznﬁnﬁng-Methoﬂs ﬁfﬁeRBﬁﬂanﬁ anchec. (10)
Q6 Wri,’ce,sh‘.p‘rl: ngtﬁk_on ‘c’my:fuur h{thp ﬁill;u (20)
*bﬂglﬁulﬂﬁﬂn-ﬂf Fire Insurance. Elalms, X :

m‘fmmafwaicﬂ*m,mhs:gnm“elﬁ.
Gﬂuds;’ Hw_ojced tcrb r.‘agzches aﬂnghefpme*
g Be'ﬁtnrsand’ Bills Ee?:g"___ bie&ﬂﬂfﬁl{ﬂi’ .
Sl C'bﬂétglm;ent Adﬁoginn-..- CLg
6

i

}

-S’tﬁck‘ De"Btm Methbi bf Eram:h ﬂtcaunts;

—--\_

,."1

“éﬁ*ﬁi**ﬂﬂ**tmlﬁ$lﬂtt$*'
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Q.P. que *320?2’

[Time: Three Hours] [ Marks.fﬂ[l]

Please check whether you have got the right q'pesuﬁin.p_f’ gr v '_ 5 -. e F
- Question.No.I is compulsory. o PG EL s oo A g
2 Figures to the right indicate full rnarks,_ S 2

N.B:

Q.1
1. Closed questions
Agenda (= o S s S R Sk o
Bulletin e D S O _
Consensus
Quorum
Meeting
Interview

S0/ STV R

B. Match the following:

-'\\- \A(ke‘ _»‘-:F," &
1. Decisions taken at' E
ok, Confeten,c‘e “\"\“* e

05 e

S,

CaR
'}; E

Q.2 : 20
a. Grgevancelintemewf e
fbn( Rblef aiﬂhepaﬂnmp\a‘q,s\k-m'a meetmg
. Appt:g;ﬁql:‘mtem]ew B Ve
~d.. Webinar S

e ;H.dvérwages»bf meetihgs i T e

: =F Fgéparaﬂaﬁ to be made by caﬁdldata before a selection interview.

o
_\.

@3““ < Anm'ter thé‘tbllawmg questmns* (;!mx Two}
g\ -,-2“ 1), Deﬁua ‘Commlnee Discuss the advantages and disadvantages of Cammitteese?
) PN hqit is & Cmn&mnce? tht are the preparations to be made for holding a confer

20
3) Qe‘ﬂnc ‘Publm Rglatwns ‘Discuss the various measures for promoting




Q.P. Code :32072
Q4 Draft the following letters (Any Four)
1) Your college needs to replace the water filter cum coolers in the premlsesa- Wﬁﬁﬁ P’lﬁm‘ uf’ .

Inquiry to Cool Guard Technology Solutions, Mumbai.. D o S g0

. = e
7 - £

2) Ms Reema bought a food processor by paying rupegs. S'UQQ %B{Wd'ﬁ‘mem m
alarming noises while grinding. Draft a complalnbletter to A‘B{;f Electremgs @ﬁhhﬂf(’f’

Ms. Reema. e X o o ;-}_ "-:A"._"‘"'-.. -,-'-' e .
: ; D o S giigt R
3) Draft a sales letter for the promotion of any one uf thc FOLIG\?J'ing;- "3y \_",'.‘;-_; Dl T A
A) Smart phone B) Hair oil i P o A e
4) Write a petition in the form of a letter tu be presemed to*the Drsmof Eﬁusumm-Fo  about

a refrigerator which has turned out to be-a defective piece that yQ‘lLqughf ﬁ*em
advertised Topsy Turvy Electronles Malad who zgn-:ur:ed al[ ym;?emﬁﬁgs

5

5) Your application for an edTm‘aHOnaLIqan is notr p;ﬁcessed:dﬁ:sm@mﬂ'h*ﬁ“ﬁhg complctﬁd all a
the formalities of XYZ(BarIk“ Mumbam,l:lmﬂ akﬂmﬁgﬁm,qmﬁwma delay.

.\;‘. ‘\-?

..,}-

4( .'-: ~ = : o p&‘\:};‘ . -:?IJ T
Q.5 1) A manufacmnngﬁempa\ny ﬁﬁyﬂg&eﬂ:&beaq%’p@du’é@ﬁkﬁpaﬁhal Pradesh wants to 10
set up a sales com?r at” '\ﬁva Sa’l-ﬁn Punﬂ. Braﬁa,@_’ ness proposal to be submitted to the

=

Tl NG
1l
?.) w‘(lhnn-peraan Sﬁtge Dﬂmﬁ?—%ﬁ’m pointed to investigate the causes of
e n’ﬁalés‘ Bt ‘Prerme? Lnd_lfsgfqu*Ltd:, T report with a covering letter. :
Q.6 Dmﬂ thc Tﬂ'ot{ce qudu}i_ggﬁ;iajafthe 2"*&(‘;{?53 afi‘h-“l"en i

Delhi. Al éi'ﬁ,ﬁthﬂ\fbﬂoymg,kcsgmnqnsv L
by 'ﬁPP“?”EI ﬂﬁih\?jﬁﬂ ual:Report: =~ -.-‘\-ﬁ-_,.-
.j_q’ff‘EP.‘?.‘ﬁF"!@W? Ww&fﬁrﬁsﬁm;

3 en ic has-o ly- negative : d _
2 (o _:y-.ﬁg%ﬁig&cquahjg This means that was gl&aﬁc |
w\;,?_'&.o. qgt.hn i ap«ga-»frjeg,d]y You can burn tonnes I .;

ators qnﬂ‘;u‘lﬂmt remains is plastic, It doe
ventions dg.ﬁ‘aper‘bumt turns into ash, but no
glass produots, But Plastic burnt cannot be used t
<contribufes q@gbmusly to environment pallutla '

ey o
A ’.I'L"r—_rlli

10
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CEun -8V £ PSS

N YWOF
T o \\'\O"H b e B o

2] Draw diagrams and maps wherever necqssahk ! A
3) Figures to the right indlcates full marlu} "-ﬁ.-: i x"“- S&

Q.1 A) Onthe outline map of Mumbai supplied tmﬁojl.ama?band name the-fhll‘t@ing
a) Mahim creek

b) Powai lake 1
c) A beachin Mumbai \'l.
d) An areaof mangrove vegetqtmn, D
e) A nature park z
f} Areligious place
g) Asite of noise pollution <
h) Malbar hill “\k«‘"o
i) Most polluted rlggr {-g s
j)  Anyonedu mpmg yatﬁ:l;.

-----

M Bescphednffenent sour.ceq waa;té with_ exampies
B ) lea;n-the impact: of‘wast‘e oh erglr:pnment
0

_'-chitate‘tlfe rﬁlgotdtlzen@ lnmas}e;managament in urban and rural
FaEl5) ‘b_scuss t“he.effo:ts mada‘by\ﬁﬁGM in solid waste manage,men :

12
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C) explain the challenges for develo

O
d) Discuss various new types ©

isr
L

tou

pment of
f tourism devel

T

i

dia?

A

o]

of er

v

nce

ca

gnifi

1

Q.5 Aexplain the concept, need and s
B) write notes an:
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N.B - 1. All questions are compulsory,

2. Figures to the right indicate full marks. ' LS

3. Answer to each question must begin on a new page.

Q.1 A) Fill in the blanks with the approp_rigte.liptioﬁ giv:en' in the hmcket'(anyll}) (10)

A doctor must be physically present at'the ti”me of treatmg the: pat;ent, 1t is a f‘eatm'erof
in service. (lnconmsterlgy r Inseparablhty! Intanglblhtyj
Services are (durablefsmrablc.’gerlshabk) ST R
Services are in natunr’ﬁ:anglblehﬁ"rangiblcfretanglblf:j _'—' Sl
A special gift given to a consﬁ}ncr isal S level af‘servmc product (Baﬁm;’ Core/Augmented)
is an examplc c-f n’c‘m stoxse reta.[l fbnh&t in Im:ha ( Elcclmmc rc;mhngf

(satisfaction /d‘lﬁﬁﬁt;sfaﬁ wn fdehﬁht}
hfanagemant Qf gtrﬁalf‘lnvpﬁ@srmanagmg@a f@otfall inside and outside the mall

c2c stands for: o .:mtrdel,ef uemmﬂe‘e
(court to. Consumer / cc.insumﬁr ta Consumer/ company to Company)

10. McDonaldjsﬂn t:Xample lif. -(franﬂhssmgfmergerfvcnture}

& = 6. Retaﬂ in ]'ndla is. obscrvmg an increase in the number of malls opening in

= ‘8. To access online banking account, the customer needs o go to the bank’

11. 3 “is-one. safthe m’ﬁjm" f.:ha] lenge for Tagzstx ¢s in India (warehousing/government
: polwyfagnguttw} Sl
«'102* Eﬁﬁmmﬁrﬂe A tﬁ‘%@QSf @fOPafatmg the business (reduces/increase/does not impact)

.? _"

B)‘Stﬁte whether fke fol_lo,wlng stgtements are frue or false: (any 10) (10)

1 Smmeg:ﬂfgnnﬁncﬁ Vanes am:ﬂss at different times.

2 Mafkéting of services is wary easy due fo its features.

3;, ltlsﬁvar?ymfﬁpu_t to brmg in tangibility in services.

a} FDI lm‘t;iaﬂing‘hc]ps to. increase the inflation in the market.

5. There- are less nqmbc: oidarcer opportumtles available in retail sector

7, ATM card offers only cash withdrawal facility to the bank customers,

ik Lagsstms in‘India do not face any challenges with regard to infrastruc
]0 Fnrelgn banks have large number of ATM’s in India

Page 1 of 4
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business and the buyer
line due to
buy onlin lack of i g

hetween
tion does not

11, BB model of scommerce involves business
an pupl!hl

12. Currently the major part of Indi

penetration.
Q.2 Answer any Twao of the following: ﬂs).
a) Define Services. Explain its scope.
b} Explain the elements of marketing mix for scrvmcs, T T
¢) Describe the steps involved in the pmccss of serwce delwel')’ : T .
Q.2 Answer any Two of the following: i ' ;_ i-"_l_,l., s o .. _ (15}

a) Describe various types of store formats of reta’:] in lndl‘ch

&

(15}

i ; (13)
a} Whans E—Commerga‘? Explmn*varmus G]:_i‘ﬂiel‘lgf:s faced with reference to transition to

o .-‘-.' . . P

&mmmeruf: S T T

L bj‘whaﬁmihe’ hm!ratmns QFBUSIHESQ 1o Corisuier (B2C) model of E ?
; -commerce

c} Expiam vamnus ﬁmctmrls‘ ﬁ'f Eqnmm erce.
o Q,,ﬁ. the ,ihort—notes on:. (an’y 4 '
_ (20)

PR a) hpnrtanm of' Service sector
s : -b) 01:gamzed and unorganized r:tla};;llmn e
Sy P EleEHtSGfLDgISllGS -
L o d) Features of Ecommerce
e e} Markehng Resgarch
o f) Internet Banking
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Plesse b b yetiet by yo by gt the Hght guestian e,

N5 T A euestions sre compnlsgry
4 Bl guestiony have interns) chigios.
Do Dty nest diagrams whereyes pwoussinny.
A Use of sitnple coloylston s pernpitted,
oo blgures v the right Jodieate full rarks,
©A) 4] Select the best snswer frum the given options snd rewrie tha staternant, Ay Ten. . 1
Lo Dernand for 5 product of 5 firm In perfec competition is
. relgtiely elgatic . unitary g]:},:l‘j-:*- -
o perfectly elastic d. relatively inslasiis
A Inthe short run to stay in business, the T‘Irr‘rl’muﬂwﬁr . ;)
2, otal cont bofrsd cost covarablecont  d, normsl profit

i, Undder irnperfect « Lol petitiog S,
4. there iy necessarily one produgsr’
b, individual sellers have ng ontio) over thy pries of the #o0ds or services 1|'r3m,r p:rmuw
o indiidual sellers have o ﬂfm! aver the price of the gouds or 5grvlwsxhﬁy produce
. none of the above ?
b W owe were exarmining a market thal had three producers, uss would: ca!l tha’b markei 3
3 perect competition b, mongpoly 5
o monopolistic competition d. vligopoly "
v.  Wonupolistic competition resembles perfect competition in _ ____Lw
2. there are substitutes for ﬂro.ductﬁ
b, there are many firmg
¢ entry and €4t I #as;r
4. alf of the abuve A
vi. In z mongpolistically competitive mar}m the number of firms is :
a few b lage - c,om L dotwe
il Price disctimination will Ll -
2. Jead to Higher pnw 5 '
b, vccys when the same pmdm Bmm 10 dfrfferenf buyers at different prices
¢, sesultinfirms cmlr;ingthe aan'm price 10 41l consumers,
d. bothaasndb
i, qaaﬁyfommﬁpiwrpduﬁt pricfms
s, Printer and computef
b, venand paper .
c - WM and walches
g, Al of the sbove
B Price disceimination Is possiblewhen ________
5 markets are separsted by distances
b, theieis perfect competition
[ g bothasndb :
i 4 neither 2 nor b
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x. Capital investment decisions are irreversible because £ SN T.x;__:__;_%l;__:_‘f;
a. the expenditure is very large < A PR \;,;,_._ -
b. the expenditure is very small o ; e A _'_-;;".t;*."_;'__ G
. investment is done by the government R 3 CCERA A p- 8
d. none of the above P il FEA ‘,9:__;:‘:} %
xi. ___doesnotapply to the payback period mathod: 50 ANae T g oy 3_,§§
a. Helps in ranking of profits ! A B Sl E&
b. Reduces uncertainty associated with returns _ S £ RN T T
c. Isexpressedin number of years A S8 “ . 3 =:"'

d. Does not consider time value of money 2T g
«ii. The value expected to be achieved from the amount invested is-known as n AV EA L L N
a. internal rate of return b, net presentvalue 3 7 S S o
c. payback period cementinvestment © o o o i
ekt L DRI L, R

i Afirm is a price taker under perfect com
i The demand curve of a firm in perfe t.co
iii. A monopolist never makes lo
iv. A monopolistically competitivefir
v. Price under monopolistic com

vii. Transfer pricing is used:
viii, Price discrimination is/p

Q.2)
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C) Describe various forms of price leadership.
D) Read the paragraph below and answer the following questions:-

A shampoo manufacturer is aware of many competing brands m‘i’ ;hamwusﬁc}thnf Iosalﬁnﬁs.ﬁnd MINESS’
He uses advertisements with the most popular firm stars to pfc mme&i?@mdgﬂ Whe‘rlotbérrkmmgﬂﬁ;brs*

come up with different varieties of shampoos he also mtro&uue&,dlﬁegenﬁ).saf ietjes of hi?:(gruﬁ
changes the packaging to make it more attractive. He prp} to S g:ndfnq ad-'véﬁrtgmg’, anda ,gded sﬁl&s

i, Describe the characteristic features of the- t'n'

Q.4) Attempt A and B OR C and D:-

A) Discuss the conditions under which pr:ce d 08
. B) Write a note on marginal cost pricmg ; a7
1 C) Explainthe multiple product pru‘.‘mgm‘tiia : ; 08
b7 D) i) Discussthe merits and dgmgn@aﬂh*éﬁ:_ coStpr _hg. meth 07
i) Assuminga desired m@ﬁﬁptﬁfl&ﬁﬁwrage vaﬁ_*qbls“ﬁqsysﬁ 4
Rs.20, calculate the: ful fast{p_‘ﬁga fqradi’f t M of the f”rm‘M-’ﬁ er.
?.\_ Q5)  AttemptAand BORC gnﬁdij(
I A) What is capital budgeting 'Ekgf pg;
i B) Write anoteon Intsr{%aﬂ 07
:.- C) Explain Net F:e"-,aﬁ‘tﬁ al Value: gg
1 D) Inthe fo'llow:ﬁ"lg tafﬂeare‘ Sl ,
1 Calcuiate,thé-'bﬁvh‘é‘QK pﬁrlﬂﬁ *Oﬂé_al@:- s
| : ~ Initia

;

fﬁrmf.\in -perfect competition
|gﬁturg|ts advantages and di:
< S OR
otes: Ans,t Foq; g

56@:5"5'6{ monepi’:ly power

ik FC&tteI f.—”":-‘\--s

' -i’ii: Dﬁﬂpqtmn bel'twqgn ollgopniv and manopolist
- ‘|."nr. ﬁagn&es af'pﬁceﬁtscnrnmatmn

; '\v._ Transjerxpzfsing

~ i Slg:ﬂf cam:e .of capital budgeting
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[Time: 3 Hours| i [mm.,wm
S Please check whether you have got the right questmnjmper YT
13 I, All questions are Compulsory, ' 5 .
g. Ineach question, attempt any four sub- qucstlon&eut oﬂhe gzy’en ﬁVG ﬁibﬂmwﬂs
. Each questions carries 20 marks, Each sub-questmns carries 5 fnarﬁa (- & P
4. Use of a simple caleulator is allowed, gty o s
5. Use of a scientific calculator, digital diary or.4 phoﬂejs NO’I’ a}foweﬂv, : 57
6. Graphs must be drawn on the graph paper. provided il o ~ £ ’ o
SDCTIONI RS F LI P

1. Attempt any four from (A), (B), (C), (D) and (E)
(A) Find the derivative of y with respect to x:
. y=6(x’)+10g90+2(4")+e"

il y=(logx+ x)(sx’+ 55) ' S at i S
(B) The Total Revenue R for quantity D mrgwen by R = 160 ’D—A ﬁz thd‘xﬁg’ Tofal
Revenue, the Average Revenue and the Margmal Revenue Whmrl}“‘ IU:; =

05

(C) The total cost function is g.wcn by C = 3>~ 10 x + 525 Fu;d e f;arwhwh ﬂwtota.l cost 05
is minimum. Also find the minintum total cost. -

(D) Find the elasticity of demand for demand function p= - 80~ Dz'wheg D=2 05

05

(E) The demand r”unctxon and the supply function for a commodrtyage given by D =400 —
p?and S = 100 + 2/ p? respectwely Find the rate of change in demand with respect to

price at the equ:llbnum price.

2. Attempt any four from: (A), (B), (C), (D) and (E):

(A) Find the compound mterest and the accumulated amount after 4 years of a principal 05
sum of Z 20,000 at'8% p.a.

(B) Mr. Khanna needs T 40,00,000 for hlS new busmess after 3 years. He wishes to put 05
aside some money now. in a bank giving 9% compound interest p.a., so that after 3
years he would get the required amount. How much should he put aside now?

(C) What sum should be set aside at he end of each year for 4 years, at 10% p.a. compound 05
interest, to replace a machinery which is expected to cost T 50,00,000 at that time

i (D) Find the present value of an immediate annuity of ¥ 10,000 per year f°r3}’ﬁl~£37;.___.;':_ 05 o ( |
. interest compounded at 6% p.a, 5
. (E) A loan of Z 30,000 is to be returned in4 monthly instalments at the rate of
' compounded monthly. Find the EMI using the reducing balance methoc :

SECTION II
3. Attempt any four from (A), (B), (C), (D) and (E):
1%gmd s a’ = 55,/then find

(A) If the Rank correlation coefficient is

observations (Assume that no rank is repeafediy 2
(B) Given that means of two variable X & Y are 6 and 8 an
169 and coe[‘f“ cient of correlation is. 0,53 find lilgd]y-

21
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(C) Caleulate Product moment correlation coefficient from the follmmm ’ £ 05
TR 0 T T AL ’
N 9 11 5 8 7 I
(D) The regression equation of y on x is 10y « 9x = - 40&&4@?&@%3‘{“‘?@“ W? f’ 65‘
1'0x =4y = 80. Find P
1) ¥ andy LS
i) Correlation coefficient () ST B 4o K
8 | N e N T X ’
O, 020 = g 5] : : . :
(E) Define ‘Regression’ why there are two regression: llneﬁ’? Under wh#t eﬂndlﬁdn d&u 05
there will be only one regression line? 3 ‘
4. Auempt any four from (A), (B), (C), (D)and(ﬁ; ST -
(A) Compute the seasonal indices for: the follnmngdammgﬁmﬁlewwymm ®s N
Year Quarter . = ) N Bt =
| Il TR e IV ot gt '-'Tf'-'-’.'.'- ,f*_';':"" ;
2005 55 53 57 ST (SR A 3 S
2006 56 55 GOl 53 | S
2007 | 57 56 ISR
(B) Construct Index Number by weighted: aggregutwc maﬂiﬂﬁ‘ ‘ 'i s 05
Commodity Price - Weight | .
2000 2014 (LB
A 200 285 e
B 1600 2000 v
C 800 800 AR
D 520 FRS540! Wt

(C) Find three yearly moving average from the foﬂowing data.
Year | 2002 | 2003 | 2004 [ 2005 | 2006 | 2
Productions 19 24 25 SN IS 3

(D) Find fishers Index number from the followingdam.

Commodity Current year
Price | Quantity Pru:
A 3 30 28
LR 5 20 4
C 6 50 3

(E) What is seasonal variation? Explain briefly y

- ot Nl
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5. Attempt any four from (A), (B), (C), (D) and (E): ST AE, "__-““ o
(A) A student calculates mean as 5 and variance as 9 for a Bmoﬁnal tEstri’hunon. T _é ; ¥
Is his calculation correct? Justify. e _;4 _,' ® P

(B) If x has a Poisson distribution with parameter m such that P [»x- 3= F[x EI]: “ﬁ_ P

Find P[xz 3], ; P - g > K- gy 'S ".:“_:‘ 7
[e =00u83] s ”' ‘ S it S ;
(C) It Random Variable x ~ n (4,25) then find P [x < 4] : ' £ L7 0_5‘ -

~ [Area between Z = 0 and Z=1is0. 3413}
(E) Write the p.m.f of Binomial dlstnbutlon-and its. pro_pertles




